MROS PL-TT 1.5 GPM
il 58.6794.1 Data Sheet

flow, stop and go* LR E T

Production Batch 227142

Date 16.07.20
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[gpm] 0.80 1.11 1.30 1.37 1.36 1.39 1.33 1.39 Mo. 1 38.02
gom | om1 | 75 | 1os | 1az | iss | iai | e | 1w | | | | [Wes | o
oo | 051 | 75 | 135 | tar | w0 | ias | e | 1w | | | | [ws | o
jgpm] | 082 | 175 | 154 | 1wz | s | 140 | 1se | it | | | | INes | oros
gom) | 079 | 111 | 1m0 | tee | tan | iar | tes | te | ||| Ne | s
gom) | 00 | 15 | 138 | 145 | a2 | ias | tee | tar | | | | N7 | sres
gom) | 051 | 13 | 132 | 1se | iss | iar | e | ter | | | | vs | seo
gom) | 082 | 15 | 17 | tar | e | ier | e | tee | | | | No | sew

079

a1 | o7s | im0 | 130 | two | imo | e | om |om | L | | e | e
ool | 080 | 115 | 135 | a1 | w0 | tar | tes | im0 | | | | [weam
0.02 0.02

0.01 0.02 0.02 0.03 0.02 0.02 Std.-Dev.

1.60 \
i 1.50 = + 0%
; N —
1.40 7z _ _
- —_—--_—'_'_'—'—-—-_
1.30
1.20
: 1.20 = - 20%
1.10
100 10 CFR 430.24
— - Nc: Of Samples = 10
£ 0.00 Mean Flow @ 60 psi = 1.35
o Standard Deviation @ 60 psi = 0.02
® 080 Standard Error @ 60 psi = 0.01
o Calculate Upper Control Limit Use t = 2.262 (2 tailed p = 0.05)
5 i Upper Control Limit @ 60 psi = 1.36
2 070 Upper Control Limit / 1.05 = 1.30
= s Mean > Upper Control Limit / 1.05 Hence use Mean = 1.35
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